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BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
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any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the
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1. Whatis meant by BWhw? 1. BWhw I ifiu™ 8§ —
(l)o?ry Winter Climate 1) T Hiaerg Saary
) .
(2)¢Bry Hot Desert Climate 2) T I AR el
2.  What is the average height in meters of the 2. MR 9= W% I g S @ex ¥)
Nagaur Highland? Fraifa 4 9 @9 W@ 22
(1) Between 200 and 400 meters (1) 200 ¥ 400 X
(2) Between 300 and 500 meters (2) 300 ¥ 500 He=
(3) Between 400 and 600 meters (3) 400 ¥ 600 Hiex
(4) Between 100 and 200 meters @) 100 ¥ 200 Hiex
3. Whoamong the following was therulerofthe 3. 71 % & Yoren= 7 1857 & Hifva & SRH
Princely state of Dungarpur during the GIRGR R & IS B 17
Revolution of 1857 in Rajasthan?
(1) Ram Singh D <= g
(2) Vinay Singh @ R e
(3) Madan Pal 3) W T
(4) Udai Singh @ s<a Rig
4. Which ruler was not associated with Hurda 4. g%l ¥ieM A $IF G a® afafod =&l
conference? oqT?
(1) Karauli 1) He
(2) Kishangarh ) e
(3) Bikaner @) GPrR
4) Kota @) S
5. TItalian Scholar Tessitori is known for his 5. Saod g e = daBaaad
contribution in which of the following fields? I IR @ forg v wirg 27
(1) Ahar excavation 1) ITET IG@TT
(2) English translation of Nainsi ri khyat ) SN & I B el IR
(3) Compilation of Rajasthani rituals ) .
(3) ol AT Rl &1 Hper
(4) Articles on Rajasthani grammar
(4) ISR AR TR o
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9.

10.

Which of the following lake is not a sweet
water lake?

(1) Navlakha
(2) Nakki
(3) Chhapar Tal
(4) Lunkaransar
In which state did Gokul Bhat Bhatt lead the

Prajamandal Movement?
(1) Bikaner

(2) Jodhpur
(3) Alwar
(4) Sirohi

What is the catchment area in percentage of
river Chambal in Rajasthan?

1) 2270%

(2) 21.10%

3) 15.10%

@ 20.90%

Which of the following pairs of districts
depicts the correct highest and the lowest sex
ratio of population in Rajasthan as per the
2011 census?

(1) Dungarpur - Dholpur

(2) Jaipur - Dholpur

(3) Dungarpur - Kota

(4) Jodhpur - Barmer

The paintings of Ragamala at Chawand
during the reign of Amar Singh I were
painted by -

(1) Sahibdin

(2) Nisardin
(3) Manohar
(4) Nihal Chand

6.

8.

10.

fr=faRed siidl 94 9 o9 4 g 918 yFr
B 8l 87

() 9=t

(2) STDt

(3) BIUdIE

(4) UHORR
foa Rama 4§ Miga 98 98 7 TwHTsa
I BT ~Iged pan?

Q) Serx

(2) SR

(3) SR

@) RRE
T FE) Bl Sle—3Udie &5 NIl H
forer oftrea & 27

1) 22.70%

2 21.10%

3) 19.10%

@) 20.90%
F=ifba gm ol 3 9 @9 W W
eI # waite feimgua & we oA
femgma @t g § UM 2011 @B
IERTEAR oy 87

(1) $RE — dlelgy

(2) SHUYR — gy

() $RE — BT

@) SR - TR

IR Rig 1 © U &l o A/gvs # T
3 = fous g™ RFa 5 37

(1) wEssE

Q) FOrRgHE

(3) FEY

4) FeEs
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11l. Who among the following is the authorof the 11. 91 % 9 &9 ‘T& I s @ oiEd
book ‘Shudra Mukti’? &7
(1) Agjun Lal Sethi (1) 3T e Hel
(2) Pratap Singh (2) wam g
(3) Jammna Lal Bajaj (3) TS g9
(4) Sagarmal Gopa @) NS M
12. Which of the following riveris not flowingin  12. =ifeiRag ¥ ¥ +i= & 7<) Wik Rl ¥
Jalore district? & F'd 87
(1) Bandi 1 Tist
(2) Menali (2) ¥l
(3) Sukari (3) g@sl
4) Luni @ T
13. According to the census 2011, what is the 13. STI9FT 2011 & SF[ER, VoA & JoY
male literacy in percentage in Rajasthan? wERd 9 J 9 e | 827
@) 52.2% @A) 522%
@) 77.0% (2) 77.0%
3) 79.2% (3) 792%
@ 68.3% 4) 683%
14. In which year was the Desert Development 14, oI 4 7% Rlon orima &g of #
Programme started in Rajasthan? o TR e
) 1965-66 (1) 1965-66
(2) 1977-78 (2) 1977-78
(3) 1985-86 (3) 1985-86
@ 199091 ) 1990-91
15. The history of which state is mainly 15. TIRREN ¥ @@ 4 ygaa: {6 T3 @7
described in Dayal Das Ri Khyat? sfeera aftfg 87
(1) Jocdhpur @ Gﬁﬂg?
(2) Jaisalmer (2) SrerER
(3) Bikaner @) FHrR
(4) Dungarpur @) W
05- @ 'Pagc;, 40f32




16. Which archaeological site is also known as  16. 9 [aifad W & @¥ga °IC & -TH
Dhartul ghat? & 4 ST wiEr 87
(1) Sambhar 1 IR
(2) Jodhpura (2) SiEgRT
(3) Nagar (3) MR
(4) Ahar @) TES
17. Inwhich dance of the Bhils, fake competition 17. &l & fFa T o wimell wul o= IF
war is displayed? e fear smar 87
(1) Bagaria (1) sFTSar
2) Gair @ R
(3) Hathimana @) TrRfwET
(4) Neja @) s
18. Which among the following is the oldest 18. ¥ ¥ § @9 W ‘Rfl—piaer o A
‘Degree-college’ in Rajasthan? g YRFAT 87
| (1) Jaswant Coilege, Jodhpur (1) SRET Biels, TRYR
F‘ (2) Govemment College, Ajmer (2) TaTIC P, ISR
r (3) Maharaja College, Jaipur (3) FERTT Bictw, SAYR
(4) Kanoria College, Jaipur @) SR Do, SR
19. Which one of the following is the correct 19. SV IFMT 2011 & S9N, o H
answer of density of population in Rajasthan SRl @ T B Hed §¢ HH A DI Wl
in descending order, according to the census HH 9ol &7 F=ifea Ry g BT B AT
2011? Select the correct answer using the B gY TE SR BT T PG —
code given below- B —
Code -
N (1) Jaipur-Alwar-Dausa-Bharatpur (D) STgR-STeTae-S-ag
l (2) Bharatpur-Jaipur-Atwar-Dausa (2) TRAZ—SGR e
| (3) Jaipur-Bharatpur-Dausa-Alwar (3) TIR—RAR LRI
r (4) Bharatpur-Jaipur-Dausa-Alwar . () TRIG- TG -TR
t 20. What is the annual rainfall required for any 20. fHH 4 &3 H AT @ 9% &5 Wi¥d
‘[ area to be declared as the least drought prone B B U o aif¥e, asi & 9= e+
area? qlee?
} (1) 70-100 cms (1) 70 ¥ 100 |
l () 40-50 cms ) 40 ¥ 50 VA
- (3) 60-80 cms (3) 60 ¥ 80 YA
‘ (4) 30-40 cms @) 30 ¥ 40 ¥
]
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21. Which of the districts listed below does not  21.
produce Tendu Ieaves in Rajasthan?
(1) Udaipur
(2) Sirohi
(3) Baran
(4) Jhalawar

22, 'Which pair of the district shows the highest 22.
and lowest growth rate in Rajasthan, as per
census 20117

(1) Jaipur-Ajmer
(2) Jodhpur-Jaipur
(3) Barmer-Ganganagar

(4) Udaipur-Alwar

23. The river Banas, Chambal and Seep make a  23.
confluence in which district of Rajasthan?
(1) Bhilwara
(2) Dungarpur
(3) Tonk
(4) Sawai-Madhopur
24. Which 19th century poet has been called 24.
‘a poet of the people’ for staying away from
court sycophancy and writing against the
| British rule?
| (1) Dayal Das
|
(2) Shyamal Das
(3) Bankidas
(4) Shankardan Samor

25. Which of the following khayal is jointly 25,
staged by Hindus and Muslims?
(1) Hela

(2) Singing of Chandrayani
(3) Rasdhari
(4) Turra-Kalangi

ey & < s & b | e J dg
il BT TG TSl I 87

(1) SR

(2) RREr

3) INT

@) wIede

2011 B SFIIOMT & TR Torei T H forel
P DA G TH Foaad &R Freom em
T QYT 87

1) Gl?:rg?—emﬁ?

(2) SEgR-SRIR

(3) TSR

@) STIYR—IAR

T, T9d R WY Akl e e |
TSR B Rl e @7 S St 87
(1) HierarsT

2 YRR

(3 <im

@) A R

199} Tt & 59 BT BT SRARN ACHIRGT
| T 5D [Hfew aE & Raars fore &
forT “AiF—Pa’ FTHT YBRI T 27

(1) T <

(2) WHS T

3 diPE™

(4) WPEF IR

= 9 ¥ e e &1 A fewgel ek
qaaIE! g WEd Wy 9 A s 87

1) e |

Q) T=TIAI DI TRIBT
3) THENT
@) Tt
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26. Who among the following is-the author of 26. 1 ¥ ¥ B oA HFA WA
Rajasthani poetry ‘Bharateshwar Bahubali Tiggel BR' @ walRar 87
Ghor’?
(1) Chand Bardai (1) Tweverd
(2) Shivdas 2) fEgs
(3) Kriparam (3) PURH
(4) Vajrasen Suri @) ISR T
27. Under the long-term famine stricken area, 27. IR SHEURG &9 & Siaid SIeTeIM
which of the following combination of o Tr=ifea el & g 4 o9 91 95
districts of Rajasthan is correct? 18
(1) Hanumangarh, Bikaner, Karauli (1) TS, AR, el
(2) Sriganganagar, Pali, Churu @) IR, 9o, T
(3) Nagaur, Jaipur, Barmer (3) R, TR, TSR
(4) Jodbpur, Jaisalmer, Bhilwara ) Gﬁsrg‘\' e, STt
28.  ‘Prithviraj-Vijaya’ of Jayanak credits aruler 28. WRIM® M0 gedRe-faoy 4 o wee
for having defeated and killed a body of 700 o1 v # foran € 35 S JupY ¥ 3MhHU
Chalukyas who had come to plunder Pushkar. F 9T 700 Agadl B 9 R
Select the name of the ruler from the ¥ F I ANSF BT 9 §adIST —
following - 0 WH
(1) Durlabhraj IT @) fuE I
(2) Vigrahraj ITE 3) A I
(3) Prithviraj I f
(4) Prithviraj II @ 1
29. Nakoda Hill is also known as — 29. AIHIel WA o Freafaraa § 4 e @ik
M q W S AT 87
(1) Chappan Hills (1) BT B gETAT
(2) Torawati Hills (2) ARG B UBTSA!
(3) Westemn Aravalli Hills (3) Ut swigel ysIeat
(4) Taragarh Hills (@) RS W vEeEt
30. Kaviraja Bankidas was the patron poet of 30. ®fAwel Sida™ &V wE SR GUER
which ruler? THHR 97
(1) Sujan Singh of Bikaner U PR B LI Rig
(2) Man Singh of Jodhpur (2) g B AqFRE
(3) Bhim Singh of Udaipur (3) ST & HakiE
(4) Madho Singh of Jaipur @) AR 3 e
05- @ Page 7 of 32




31. If n inbreds are crossed together, number of 31. A T, TS I TS G i fpar Siram
double crosses can be calculated by the €, Tl TSIl BIG DI G B T 6w I
formula - P ERT DI S TdHal a7

(1) 2@y (;'2) (-3) (1) 1D @) @3)

(2) n (z-1) (1;-2) (n-3) @ = (@-1) (:21-2) @-3)

(3) 2l (:-2) (=-3) @) n@D (:-z) (0-3)
8

@) 2eDE) el @) 2G-D @2 @)
12 12

32. Plant with gametic chromosome number are  32. T&H UREF G 90 O &1 FiforRag
termed as which of the following? H 9 T Byl AT 87

(1) Haploid (2) Monoploid () srgfere @ drreiss
(3) Diploid (4) Dihaploid 3) @"Iﬁlﬁ @) @_ﬂﬁiﬁ
33. 'What will be the sequence of damage caused 33. =T <hal & =9 ol &fa &1 59 @
by various organisms? BRTT?
1) Fungi > Viruses > Nematodes >
()Bactg;ﬁa 1) Paw > ) > GEHh > Shary
2) Pungi > Bacteria > Viruses >
()Nenitodcs @) w5 > Sfam > Ry > el
(3) Bacteria > Fungi > Viruses > @) Sy > waE > W > gFHh
Nematodes
(4) Bacteria > Nematodes > Viruses > @ Sap > e > R > daw
Fungi
34. Chromosoie number of cowpea is — 34, AT o URE AT Bl § —
(1) 2n=14 2) 2n=22 (1) 2n=14 2 20=22
(3) 2n=18 @) 2n=24 3) 2n=18 4 2n=24
35. Nucleus was first discovered by - 35. 'iﬂ'?rcdqﬂ B} G G99 TSl [ gRT &
_ T o
(1) Flemming (1) FRRT
g; :Z::: c;;lookf: @ ¥
(4) Robert Brown @ e &
@) M4 g
36. Which one of the following is comect for 36. FrHfaRad ¥ @ HIF SaRags @ forw o=
mutations? g7

(1) Caused by genetic recombination (1) ARG TGO F PR

(2) Heritable changes in genetic (2) U SFBRI H AERIE TRad
information () I ER aie & vyl ufiess &

(3) Caused by faulty transcription of the HINO]
genetic code @) TR W o =R B R 3

(4) Usually  beneficial to  the fov wcHT B9 § REd 9 29
development of the individuals in &
which they occur
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37. Which one of the following statements is not

correct?

(1) Wild forms are wild species from
which crop species were directly
derived.

(2) Wild forms are easily crossable with
the concerned crop species.

(3) Wild relatives include all the species
which are related to the crop species
by descent during their evolution.

(4) Wild relatives are much easier to
hybridize with crops than are the wild

FrafolRas # 9 @9 91 woH w8 -

27

(1) Sl w9 STer vonfat € e
e TSIl W 2gea g8 o |

(2) STell WU B SRR BOd ool
%%wm:ﬁ%mﬁmmm
|

(3) el R § ¢ Wit worfeRt
A & o o e & SR 99
BT el yoridl & Heftr §

@) Wl wul @ Jorm H Wl

forms. HRAT 95T MM BT 8 |
38. Use the following events to answer the U FT SR o1 & forg F=fiRaa geamsit
question - BT WAT PR —
1. mRNA is formed. 1. IR, <7 8]
2. DNA segment opens (unzips) 2. ST, s Wf fé {eritr)
3. mRNA attaches to ribosomes. 3. THIARTAT, uﬁ g gl
4. Amino acids forms peptide bonds 4 I SRS TS s W ¥
: ‘ : - 5. AARTAY. THAT TRTS BT THARTAT.
5. tRNA carries amino acids to mRNA. F & ot 2
The correct order of events required for e G0 & R¥I¢ sn9as geARl &1
protein synthesis is - HEl B9 94T 87
1 1,2,3,4,5 1 1,2,3,4,5
(2 2,1,3,4,5 @ 2,1,3,4,5
(3 2,1,3,5,4 3 2,1,3,5,4
@ 2,1,4,5,3 4 2,1,4,5,3
39. Lead centre for DUS testing of rice is located glﬂa & DUS Tievr & forg sl g Rerq
at - —
(1) Indian Institute of Rice Research (1) IR TEd AFgEYE RN
(HIRR), Hyderabad (3TTS AME RSN, ¥SREIg
(2) National Rice Research Institute, 2 T TEd W I,
Cuttack FH
3) Indira Gandhi Krishi : - SreafiReRT
© Vishwavidyalaya, Raipur ® i?% TPl ’
@ JAOSIZZI:I Agricuitural  University, @) R B Rafeey, SRee
40. The germplasm is “the sum total of the SIS “geniar § GG AT BT e
hereditary material in species” defined by - IR e gRr gRyiRe faar ar 22
(1) Zedan (1) S=FE
(2) Stoskopf 2 CRH%
(3) Allard (3) Wlé
(4) Harbhajan Singh @) = R
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41. If a somatic chromosome numberis 20 =20, 41. 3k o RTH PRF F=M 20=207, @
then the total number of chromatids present TAGE & UHe P g A Aieg pHicsy
at the end of the prophase of mitosis is- W Fol G T
1) 20 2 40 (1) 20 (2) 40
@3) 30 @ 10 (3) 30 @ 10
42. Inbase collections, germplasm can be stored 42, SR €U H, SH@S Bt fHaw anf & forg
for — wufza far & war 87
(1) 3-5 years (2) 5-10years 1) 3-5a8 ) 5-10a¥
(3) 10-15 years (4) upto 100 years (3) 10-15 7§ (@) 10099 TP
43. Which is not correct about free radicals? 43, T WHew & IR | T T8l & —
(1) Produce genetic effect (1) T SFERIF YHIT ST N
(2) Electrically charged (2) fae@ amaie &
(3) Very short life (10° second) (3) R o7 957 Ber SiaT (1070 I%3)
(4) Unpaired electron in the outer orbit al
(4) 9 TEm | SgRAT Teldgid B
44. A nucleotide is made up of which of the 44. TP fderiiciss =fofEag ¥ 4 b9
following chemical components - ERMT 92 9 997 24T & —
(1) anitrogenous base, an amino acid and (1) TF "B 99, @ oA ois
a phosphate group 3R (@ BieBe T
(2) anitrogenous base, an amino acid and (2) TP AR 99, T TR TR
a pentose sugar AR 1 o TR
(3) a nitrogenous base, a phosphate (3) TP RSN 34, Uh BRST T
group and pentose sugar 1 . R @ T TR
itrogenous base, a nucleic aci TR
@ ta)az:lllcboﬁe and a hexose sugar @ v R ki
TRTS 3par 9k T SRE TN
45. Whichk of the following combination is 45. f=ifeiRad # 9§ B &1 Haloq wal &7
correct — A M1 ¥ 950K USRI 3 999
A Selecnc{u of superior ty_pes in Mi B. Ml 3 aSe BRI & JBu
B. Prevention of out crossing in M1
C.  Prevention of mechanical mixture C. Ml ¥ Jif3m fsr 3 e
mML D. M1 ¥ WaRy dft
D. Progeny rows in M1
a A L A
(2) Band C 2 BIRC
3) D 3) D
(4) AandD (4) A3RD
46. Among the given hydrogels, whichoneisthe 46. 3y g BESid § W o 9 9ed
most preferred? afFi_g 87
(1) Gel-Rite (1) S—Ee
(2) Agar (2) 3R
(3) Sodium alginate (3) A themc
(4) Agarose @) IR
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47.

48.

49.

Size of foundation seed tag is - 47.
(1) 12cmx6cm
(2 15cmx7.5cm
(3 15ecmx10cm
4 12cmx12cm

The end product of transcription is - 48.
(1) DNA
(2) RNA
(3) Protein
(4) A ribosome

Which of the following statement/s are not 49.

correct about mutation?

A. If mutation occurs in a germinal cell
before differentiation of gametes, it
would influence several gametes and
will thus influence all the individuals
derived from these affected gametes.

B. If mutation occurs in a gamete or a
zygote, a single individual will carry
the mutation.

C. If mutation occurs in a cell after the
zygote has undergone one or more
divisions, only a part of the body will
show the mutant character.

D. If mutation occurs in a gamete or a
zygote, all individuals will carry the
mutation.

1) AB
2) B,C
3 CD
@ D

MR € & ST T AR THaT B 87
(1 12T x 6 9.
(2) 1599 x 7.5
(3) 1590 x 10991
@ 1299 x 129

wiela &1 3ifd| sarg & —

(1) ST

(2) ARTAT,

(3) W

@) wH g€

Frefeaa # € SaRads @& sR § 99

M/ B R T &/

A IR el & VT 4 usd W
S BIRBT A SaRade ST &, o
qE s TADI P TG BT AR
I YHR 39 TR W 9w
T} Hf¥erTdl @Y THIfaT BT

B. 3R &H gwe @ gEEw #
SaRed gar f, d @b smden
AR SARad™ Hw |

C. Ji< gmeel & & A1 3t fRarori
| T @ 91€ DIRGT § STRadT
BIaT 8, W TR T Bao TP R
& SoRadl aRka Ramwm|

D. e o gwe @ gEaw #
SOREIT BT 8, O T4 g |
SR BRI |

(1) AB

) B,C

(3 CD

@ D

05- &
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50. Match the following — 50. fy=rierRaa &1 fa™ &% —
Gene interaction Ratio o gexd= U
(i) Dominance (@ 934 @ e e (@) 934
epistasis 3 o
(i) Recessive ®) 15:1 @) b) 151
epistasis NSRS
(iti) Duplicate (c) 97 (i) e T © 97
dominance . =
@(v) Duplicate @ 12:3:1 (v) ST s (@ 12:3:1
recessive MR T —
Choose the correct sequence-
® @ @ @ oy 9
Ma b ¢ d ) @ ¢
@ b . d . 2) b c d a
@c d a b @ec 4 a b
@d a b ¢ @d 2 b e
51. A gene that influences more than one traitis 51. T ¥ 31 @&l $I TAAT B3 Gl S
called - PHEAT B —
(1) Major gene (1) 9= S+
(2) Minor gene (2) WETR
(3) Complex loci (3) P B
(4) Pleiotropic gene @) agod o
52. TIn primary trisomic, the extra chromosome 52. URIfA& gE9ifA® #, JIRIRE oRE sk
is - g -
(1) Normal (1) g
(2) Ring chromosome @) T TR
(3) Translocated @) TradiBeS
(4) Isochromosome @) STEEmEREE
53. Analternative form of gene is - 53. o B & Jaicdd w9 § —
(1) Allele (1) gl
(2) Recessive 2) IYHET
(3) Dominant (3) Wy arel
(4) Genotype @) SFERT
05 @ Page 12 of 32




54,

55.

el

56.

57.

58.

59.

60.

Cells remain plasmolysed even after thawing

is known as -
(1) Frost Plasmolysis
(2) Heat Plasmolysis
(3) Concave Plasmolysis

(4) Deplasmolysis

A somaclonal variant of linseed released as a

variety for commercial cultivation is —

(1) Snowstorm (2) Ono

(3) Andro (4) Scarlet

B. juncea is evolved from a cross
between -

(1) B.nigra x B. campestris
(2) B.rapax B. nigra

(3) B. oleracea x B. campestris
(4) B. oleracea X B. nigra

An autotriploid contains -
(1) Three pairs of genome
(2) Three copies of one genome
(3) One copy of three chromosomes
(4) One chromosome in trivalent
The plant, whose pulp is used in paper
industry —
(1) Gossypium (2) Bambusa
(3) Olea (4) Salmalia
Select one out of the following, which is not
related to maintenance breeding -
(1) Plant to progeny method
(2) Positive mass selection
(3) Back crossing
(4) Negative mass selection

Pigeon pea hybrid ICPH 8 was developed
from the cross between -

(1) Pusa 33 xICP 161

(2) MS Prabhat X Bahar

(3) MS Prabhat x ICPL 161
(4) MS Prabhat x Pusa 33

54.

55.

56.

57.

58.

59.

60.

€, HEal & —
D) U BRI
2) S DREEEg
(3) TS DIRBFAGT
@) BfPEEsRaT

TIRRIS il & v v 5 & wu o
iRy fobar = —

(1) ERH (2) A

(3) ¥g 4) RoT

9. GRren fFwe Foe 99 w »9 9
fasfia garm 87

@ 1 far x 9 PuRew

2) & <y x 9.

) 9. seRREr x f FARew

@ . steRrEr x 9. B

& aiieifgwigs o 8T & —

1) >S9 & O 9

2) TF SIHW B 99 il

) dF PRE W W Ui

@) Beges 4 @ ERg

9% i, foRIeT &1 SN e § W
fopar wirm & -

1) g (2 w9

3) g @ Ja

frefoles § 9 & &1 999 &N W
I-EE U § Gaed T8 g —

. N ¥ gafa A

2) IPRE 9 T94

3) T HHop

4) ARG S T

IER D AP} IEALILTT. 8 B fhad dF
P Hig O [Aerad fear =r o -

() gmr 33 x A 161

@ wE. yug X 98-

B W 1E X IEAWTA 161
(@) wAE. W X T 33

05- @
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61.

62.

63.

I the helminthosporium — sugarcane system,  61.

which of the following combination will
show susceptible response?
A. Host 1r, pathogen pp (virulent)
B. Host RR, pathogen pp (virulent)
C. Host RR, pathogen PP (avirulent)
D. Host 1r, pathogen PP (avirulent)
1) AD
2) B,C .
3 CD
@ A

Match the information of group A with group  62.
B-—

Group A Group B
(1) Additive (a) Non-fixable
variance
(2) Dominance (b) Fixable
variance

{c) Mather, 1941

(d) Imterallelic
interaction
Choose the correct sequence -
@ @ @
D) a b c d

(3) Polygene
(4) Epistasis

2 b c d a
3 c d a b
4 b a c d

If the code for an amino acid is AGC on the  63.
DNA molecule, the anticodon on the tRNA
would be -

1) AGC

) UCG

3) UGC

@ UGG
‘Who can issue the breeder tag? o4.

(1) Breeder

(2) Seed certification agency

{(3) NSC

(4) SSC

A G 1r, ISEE pp (TavS))
B. #9EM RR, WIS pp (HHvE))
C. ¥9[EM RR, 9% PP {Havs))
D. A9E rr, S9FE PP {ETE))
1) A,D
2) B,C
3) C,D
@ A

WE A O dMeN S W B 9 gile
¥ —

e A g B
1) IS (@ “-frREa
Prear
) I B () freded
(3) dieleiE (© #e=R, 1941
@ iR (@) Seeafas
SR
el T -
@ G G ()
@ a b c d
2 b c d a
3 c d a b
@ b a c d

I e T s @ R eis Swn
9 W geidl 8 o JaRTy W

Tfehie BRI
(1) TSI
(2) IS
(3) g
@) gl
Hiex 1 DI 9N B Gobarl 87
(1) #sx
(2) 9191 YU OOl
(3) TATHFL
(4) THYH.

0s- @
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67.

68.

69.

65.

66.

Bioinformatics includes which of the

following activities?

A Preparation of data base
B. Compiling of genome sequence
C. Development of computer hardware
D. Assigning functions to the identified
gene
(1) A,B,C 2y ACD
(3 A,B,D @4 CDAB

Which of the following statement is not
correct about DNA replication?
(1) DNA replication always proceeds in
the 5' — 3' direction.
(2) The presence of replication fork in
E. coli chromosome was first
demonstrated by Caizns in 1963.

(3 Both strands of DNA replicate
continuously.

(4) DNA replication begins with the
synthesis of a small RNA primer.

In case of recurrent selection for SCA, the
tester that is used has -

(1) Broad genetic base
(2) Narrow genetic base
(3) Both (1) and (2)

(4) Heterozygous tester

The possible phenotypes with four different
alleles of a multiple allelic series is —

(1) Three (2) Four
(3) Six (4) Eight

Which of the following species crosses give
the highest hybrid heterosis in rice?

(1) Indica x Indica
(2) Indica x Javanica
(3) Indica x Japonica

(4) Japonica X Japonica

65.

66.

67.

68.

69.

g e s ¥ fafoRea 3@ @9 W@
Tfafaftrt mfe 82

(M) A,B,C 2 A,C,D

3 A,B,D @ C,D,AB

FrefaReg 4 ¥ 9N @ 999 S

gfapa & I # |8 TEl 87

) Iy uRiely gven 5> 3 e F
3 gl B

2 3. Dl HEEE ¥ TREl B B
URRIfT UEel IR 1963 # B NI
TaRia & TS o |

() ST F I e AR gRiph
IR & £

@) SEL Pl vF Bl IRTIL
SR & Yo § TH B B |

e @ foly SR-9R @ & AW 9,

SN fFY W 916 SX BT 8T =Y —

() U AARID AR

(2) ol ATTEART IR

(3) < (1) 3R (2)

@ méﬁ?

THIS Tolld Tl & TR S[T—aeT

Telicl & <] Ifad Belegy fham g7

@ &= 2) IR

(3) ©E @) IS

fr=fafag F ¥ o9 W@ yonfodl &1 B

el F STaad Hax 3o oo 87

D) gfear x gR¥sr

) IfEar X SHEET

(3) sfeer x wuifHeT

@ i X ST

0s5- ®
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70. Which of the following crops is the most 70. F=laRad ¥ @19 W wvoa & & a9

sensitive to salt stress? % Ul 999 ddseier 27
(1) Sugarbeet 6} W
(3) Alfalia (3) PR
(4) Beans @ &=
71. Which applies to compton scattering? 71. PGS UHIOH G T A1 BT 27
(1) Anelectron is pushed to an outer orbit (1) U Soigci- &l 918 BEl § gdel
(2) Removal of the nucleus of an atom ST &

(3) A low energy photon spends all its (2) TP T B G BT ECH

(3) TF TF Sl gIal BIeH §@ IeEI]
U P WeeHE & [ 5 B g

energy to kick away an electron from

an atom
T AR Holl TE G ©
(4) A high energy photon spends a part of @ T S G T B it
its energy to kick away an electron BT T AT T TR A T SO
from an atom BT T P F wd e ®
72. Match the column A with column B and pick 72. &ied A & ®fed B ¥ Ffera Hiforg iR
the correct option given below- & AweT o1 gim—
Column-A Column-B PleF—A Hia—B
(i)  Particulate (a) X-rays G o iR (a) TR
radiation Gi) R—P ®) 5
@ Non- o R iR
parflc?late chlorourac iy 5 © : "
radiation R
(iii) Non — ionising (c) Thermal
radiation neutrons @) ! ) .
(iv) Base analogues (d) UV rays Eau
Ooti weg —
ption -
@ G) G (v ® @@ @G@) @)
@ a d c b 1) a d ¢ b
@ d a b @ d a c b
@c a d b Bec a b
@c d a b @e d a b
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73.

74.

75.

76.

Match the following (Colummn A with 73.

Column B)
Column A Column_B
@) Metroglyph (a) Wright,
analysis 1921
(ii)) Pathanalysis (b) Rawlings
and
Cockerham,
1962
(iti) ‘Trallele and (c¢) Kempthome
quadriallele and Curnow,
1957
(iv) Partial diallele (d) Anderson,
1957
Choose the correct sequence-
@ @ @) @)
1) a b c d
2) d a b c
3 a b d c

@ c a d b
If the ratio of X/A is 1.0 in Drosophila, the 74.
individual is —
1) Male
(3) Super male

(2) Female
(4) Super female

The first report on heterosis was reported 75.
by -

(1) Beal (1882)

(2) Koelreuter (1763)

(3) Shull (1914)

(4) Freeman (1975)

Ricinus communis is a — 76.
(1) Shrub (2) Herb
(3) Tree (4) Cladode

frafaRaa &1 e #Ive (&9 A & 9=

wH B)
WHA
0 ASRAw (a)
frzergor

@) UrRf fawEver  (b)

Beelier ik (c)
=gl Tetiet
iR (@
SHYeltel
wE A= 8 —
@ G
(1) a b c
) d a b
3 a b d
@ c a d

(ii)

iv)

(ii1)

wWa B

s<e, 1921

Jdhi &k
BIFTEH,
1962

el el
o1, 1957
gs¥aH, 1957

@v)
d
[+

C

b

e FrEfhem # X/A 37 3FUE 1.08, 41 98

HIT BRI?

(1) = (2) AraT

(3) ST R (4) = HET
2R TR TBa RUE 5w g1 RaE @5t
3 &P

(1) 9 (1882)

(2) PITRSEX (1763)
(3 I (1914)

@ WEE (1975)

R g @ & —
(1) S (2 wE-gd
() g4 @) ®IEE

05- @
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77. Match List] with List-II and select the 77. -1 & @I ¥ gifea DY iR

cotrect answer by using the codes given Rl & - @ ¢ e @1 R B 9E
below the lists - TR BT =TI B —
List-I List-1T -1 -1 |

(A) Hybnd (1) Advanced (A) B (1) S0 Ighkoe- j
random-mated . o |

TgRAT Wi Bl
generation of e
CTOSSes :

(B) Purline  (2) Maintained ®) LEXE () Gd WA AR
through open- HTH ans:ﬁ 3
pollination and T § 999 3T
component 9L T P fam
lines have been s N >
tested for GCA . A e T

(©) Composite (3) Fi generation © g 3) Fo Uil s
grown w4 ¥ sl Ef.{'
commercially @ wwRfE @ TP R @

(D) Synthetic (4) Synthesized by T g B
all  possible . .

Cross GareEt aRI
combinations Tafta &= 3R
of selected
inbreds  and e 3 fe
they have been S9hT TR faar
tested for SCA TR
(5) Progenies of
single self 6) TPa F‘i_i AEE
fertilized plant T Bt Hafd
Code - &R —

A B C D A B C D

a s 2 4 1 @ s 2 4 1

@1 3 2 5 @1 3 2 5

3 3 5 1 2 3 3 5 1 2

@ 2 3 5 1 @ 2 3 5 1

78. ‘Flavr Savr’ is the transgenic variety of - 78. ‘Toia} A4 fhae giaoiRe fw 87

(1) Okra @ s
(2) Tomato 2) THRX
(3) Brinjal 3 F=
(4) Mango @) am
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Ty TR T gy FURRER T T T e T T

s - T TR T e

79. The m-RNA which are coded by one cistron T—IREAY S e RgiE g} oifsa
is known as - R TR B T ®9 H W ST
(1) Polycistronic RNA (1) diNEINT IRTL
(2) +RNA (2) AR
(3) Monocistronic RNA (3) TR IRTL
(4) Monosome @ I
80. Sclect the wrong statement among the o 3 ¥ o S &7 79T B —
following - M) arFrefds TR ERT Ge) S Bl
(1) Heterosis can be fixed by vegetative foraa fmar < Toar &
propagation. (2) daR AW @ iRl gR1 PR
(2) Heterosis can be fixed by apomixis. far = dwar 21
(3) Heterosis can be fixed by balanced (3) iy HIE Yoliell §RT | 3l
lethal system. Eﬁr SECRC G‘T el B |
(4) Heterosis can be fixed by inbreeding. @) SqHSET BN WA A P R
T <7 \war 21
81. Which of the following statement regarding AZCIATE CEilERN % ey A f=fafeg
cytoplasmic inheritance is true? I B 97 BT G 27
(1) Equal contribution of male and 1) R AR FaT BRI T BT GHH
female cytoplasm occurs. QTS BT 2|
(2) Linkage relationship operates in (2) TG ey WA & darferd
plasmogenes. BT ¥
(3) Equal distribution of plasmogenes to () TRy DRt ¥ WA B G4
daughter cell takes place. Rreee BT £
(4) Reciprocal differences exits. @) TRERE s R Wi
82. Match List-T with ListIl and select the -1l B -0 9 gafem s ek
correct answer by using the codes given g & i QY T8 B &7 T 3 a9
below the lists - TR BT TIT DT —
List-I List-IT 3@ m
(A) Down (1) Monosomic :
A) sEafgm ) AAsEEE
syndrome ) . W
(B) Patau (2) Trisomic 13 (B) e Rige () e 13
syndrome € vsIsH (3) TEAAE 21
(C) Edward’'s (3) Trisomic 21 f@r@q
syndrome = fig) 4 R 18
(D) Turner (4) Trisomic 18 ®) @ 1
syndrome (5) TEEHE 19
(5) Trisomic 19 BT
Codes - A B C D
A B C D @ 3 2 4 1
ms 2 4 1 @1 2 3 5
@1 2 3 5 1 5 4 2
31 5 4 2 @ 3 4 5 1
@ 3 4 2 1
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83. The PCR techmique was developed 83.
by -
(1) Temin and Baltimore in 1970
(2) Karry Mullis in 1985
(3) Gottlieb Habertandt in 1902
(4) Guhain 1989
84. Which of the following is not a membranous 84.
organelle?
(1) Lysosomes
(2) Mitochondria
(3) Ribosomes
(4) Endoplasmic reticulum
85. Adenine and guanine are - 85.
(1) Purine bases
(2) Pyrimidize bases
(3) Sugars
(4) Uric acid
86. Improved Pusa Basmati 1 (Pusa 1460), the 86.
first variety in India developed through MAS,
has been improved by transferring which of
the following?
(1) QTLs for grain size
(2) Disease resistance
(3) Cooking quality
(4) Vitamin A content

87. Assertion (A) : Leaf rolling in species like 87.
wheat and sorghum predicts turgor
maintenance.

Reason (R) : This is because these species
show relatively better osmotic adjustment
than does rice.
Choose the correct option -
(1) (A)is not correct, while (R) is correct
(2) (A)is correct but (R) is not
(3) Both (A) and (R) is correct and (R)
explains (A)
(4) Both (A) and (R) is comect but (R)
does not explain (A)

WeR aee foae g el o 18
ofi?

(1) 2f 3R IImR, 1970

(2) &% Tqierd, 1985

(3) el taweise, 1902

(4) T, 1989
fr=foRag 9§ 9 @19 & fAreiigrR 3 =8

g?

(1) aEEEE

(2) TEEIPIRgA

(3) ugERE

@) sFausadr Siferat
wsf @il vaifee € —

1) =9+ wE
) IAFSH s
3) TH

@ IRF =T
U, & A9 9 [Jafig IR @ ugal

T IRFERI 1 (9T 1460) @1 Freferfag o
¥ e g gur (& =y 87

(1) T B IFHR & o FgaTa.

(2) 37 URREE &

(3) @I 9B DI JuraTl

@) faer = g e

AP (A) : 15, R TR o= yonfaE! 4

T fogesr ok Sg—<wE B Afdsal

BT B

SROT (R) : VT 9feg € i A gemiodt

AG B GAN 7 AP d8aY ORISR

e el €

e fdwes T —

(1) (A)ES 741 3, iefe R) 981 8

(2) (A)TE & Afp R) W& & &

@) (AR ®) 3 FE 2 AR ®), (A)
P FRAT BT &

@ (A) R ®) SH wd & AFAT R),
(A) B AT T} BT B
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88. Low magnitude of genotype x environment 88. UIAICIRY x TGN & RER a1 &
interaction includes - gfHArer § wfie & —
(1) High buffering capacity (1) STa 99T &Har
(2) Low buffering capacity (2) B9 IHRT &
(3) Adaptability (3) IR &
(@) Stability (@) Rerar
89. RFLPis- 89. IRTHLUL & —
(1) PCR based markers (1) bR NG AR
(2) Seguence based markers (2) STHY AENRT ATHT
(3) Retrotransposons 3) TEYNIAT ¢
(4) Hybridization based markers (4) HoHvor e Jres
90. Cicer species having annual, small flowered 90. ¥, BIET el el ToIfaal © el W,
species with firm, erect to inclined or prostate 96 g¢ A UNCe WA & ER R ue
stem is - -
(1) Monocicer @O AR
(2) Polycicer () e
(3) Chamae cicer (3) =T B
(4) Acanthocicer @) TR
91. Pigeonpea, chickpea, mungbean and cowpea 91. 3RER, TN, T IR cligdr & ST B
originated in - g7 :
(1) Hindustan centre of origin (1) Ko SaRt & o5
(2) Asia minor centre of origin (2) TR AR SIRT BT B
(3) Central Asia centre of origin (3) w=1 SRR SART BT B
(4) China centre of origin @) T SRy 37 o
92. The plant family included under the series 92. VB[ 2ol & IF=riT SN AT UG BT
unisexuales is - 2 -
(1) Malvaceae (1) Frear
(2) Musaceae Q?) ﬁ-\ﬁ-\:ﬁ
(3) Solanaceae (3) Ererrl
{4) Euphorbiaceae @) W
93. The germplasm which is collected from 93. TN I e BT U SiHdwIoH B Hal
foreign countries is referred to as - War g —
(1) Direct introduction (1) v uRag
(2) Indirect introduction (2) 3ucas e
(3) Indigenous collection (3) @ duE
(4). Exotic collection @) TS WIE
94. The genetic constitution of normal 94. WM FENbeT AT P FEIRIF ToT
Drosophila female is — Bidl & —
» XX 2 XY 1) XX 2 XY
3 X0 @) XXY (3) X0 (@) XXY
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95.

96.

98.

l
‘ 99,
\

100.

A deleted chromosome can - 95.
(1) revert to normal condition
(2) never revert to normal condition
(3) causes dosage effect
(4) change the position of a gene

Which of the following statement is not 96.
correct?
(1) Cytoplasm does not play a role in the
expression of heterosis.
(2) In sorghum, some pureline varieties
are almost as good as many
commercial hybrids.

(3) The superiority of modern maize
hybrids is primarily due to their
ability to perform well at high
planting densities.

(4) Hybrid varieties show 20% or more
yield tmprovement over open
poltinated varteties.

TBG-39 is the variety of — 97.

(1) Bajra (2) Toria

(3) Groundnut (4) Mustard

First artificial hybrid of carnation and sweet 98.
williams was made by -

(1) Mather, 1716

(2) Thomas Fairchild, 1717

(3) Bonnet, 1720

(4) De Graaf, 1673

Biotype differentiation relates primarily to-  99.
(1) Fungi
(2) Bacteria
(3) Insects
(4) Viruses
If a variety is found suitable, it is released for  100.
comrercial cultivation by -

(1) central variety release committee

(2) state variety release committee

(3) An international crop
institute

(4) Both (1) and (2)

research

RafT ToeE —
V) g Rafd ¥ die 9o 8§
(93} %Wﬁqﬁfﬁiﬁ“ﬂﬂﬁ?ﬁﬁﬂiﬁﬁ

(3) TP WUIT BT BRU BN B

@ < P Rafy 95 I &

frfeRad & 9§ B9 W1 U9 98 T8 87

(1) HHY 3 P AT § HigerarsH
qfier T8 Trvmar 31

2 w€R 4 o g &
A B ISl B & R B o
qifeifsTd Hax |

(3) IMIFT WIHT W%l D TSA THA
w0 W STg AUV BT WX SFST
gaﬁhﬁ#aﬁmma%m

]

(4) HaR 5o Gel T ol el o
T 9 20% 7 ARF U H GEIR
Rt &1

TBG-39 fhaa foe 82

) s ) aifar

(3) JIrmel @ st

FrEF N Wie fafea &1 9ger W

o~ foad gRY 99/™T TIT?

(1) R, 1716

(2) oiFE BERTEes, 1717

(3) e, 1720

4 < 9T, 1673
IeEY fIve & TU § WeRd T —
(1) H99

(2) SEEiRar

(3) o

) TS

Ife FiE 5o Sge 9% 9R E, W T
frae g weEie T 3 fou fames
o < 87

(1) @z fee REEm 9T g™

(2) T~ fre s affa g™

(3) & IR Bad JTHIE G

N
@) < (D) AR @) FN
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101. The most common gene pool used in 101. Wo-F HRIFH H SYIE (HAT S aren
breeding programmes — Y AN S Yel T —
(1) GP1 (1) Sidi 1
(2) GP2 (2) widr 2
3) GP3 (3) <Y 3
(4) All of the above (@) SRiT T4 ‘
102. Transfer of some genes from one speciesinto  102. {FB ST BT TP U 9 ERLR SIS E2
the genome of another species is called - SR ¥ RIFiaReT HearT § —
(1) Migration @) ysESH
(2) Segregation (2) gerar
(3) Random drift 3) m—{%ﬂ; SR
(4) Introgression @) st
103. Choose the wrong statement of the 103. Fr=foiRag # ¥ o0 @ & =
following - BT —
(1) Incompatible reaction of gene for D) TIPS WD | SN B forw »
gene found in biotrophic pathogens. S @Y sRivTE AT uiE e ¥
(2) Complete reaction of gene for gene (2) oo am ¥ o & fare o
found in facultative parasites. &1 gof gRifrar o ol ¥
(3) Accumulation of phytoalaxins at the @) TFET B SR R BEATSRET B
21:: t;f infection is followed by cell R et v S T e ]
(4) Vertifolia effect was due to, variety “) i VR @ ﬁﬁ;r W AR
carrying low of VR and high level HR® 9o T arell et & e
°R. B3I T
104. The concept of “Dirty crop multiline 104. “TTI HIY Aoy WG’ B IGERON
approach” was suggested by - e g1 g9is Ty ofi?
(1) Simmonds 1) Rsw
(2) Marshall () arefa
(3) Frey @
(4) Vanderplank @ TR <l
105. Among the given auxins, which one is the 105. 37 7y Jifdwmi § 9 $ w1 URy SO
most frequently used in plant tissue culture? Haee #§ 999 AfSE ygrT fFar sy 27
@ TBA @ IAA @) ST @) I
(3) NAA @) 2,4-D (3) TTN. @) 2,49
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106. Real value of seed ot is determined by - 106. 99 <fc of IRaled d& (b9 §N
@ Purity (%) x Germination (%) FreriRer e e %?
100 (1) T (%) x F5T (%)
(2) Purity (%) x Gemmination (%) 100
Dockage (%) (2) TEIOH) x g (%)
(3) Pusity (%) x Dockage (%) T ()
100 (3) I _(%) x Fa (%)
(4) Purity (%) x Germination (%) 100
@) = (%) X HFIT (%)
107. Gene bank for forage and fodder crops is 107. aRT 3R IR Boal & fog o9 9% ¥
situated at — Rerg 27
(1) Jhansi (2) Bhopal (1) =it (2) wrer
(3) Bangalore (4). Udaipur (3) FTeR @) SEIR
108. One gene one enzyme hypothesis was 108. U% W9 U& Uugd UR&Ged fas gRI
proposed by - gIfad & T oAi?
(1) Beadle and Tatum (1) dsa &k 2en
(2) Johannsen (2) SEFET
(3) Mendel @) e
(4) Britten @) R
109. Which of the following generates gamma 109. fr=ifeiRad § ¥ 319 fafe=lm el # T
rays in the irradiated material? POl ST Hdl 27
(1) Neutrons 1) n&r‘f:[
(2) X -rays 2) TFE—
(3) o - particles (3) a—au
(4) B - particles @ -z
110. Which of the following classification is a 110. fr=faRag § ¥ @9 @1 Toww «@fE
sexual system of classification? IR 9PN goner 27
(1) Phylogenetic system (1) TBEASHCE ToTer
(2) Natural system ) Pl Hoel
(3) Aurtificial system 3) W Tl
(4) Natural selection @) wrpRe
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111. Addition or deletion of bases causes which 111. ¥ & g i@l AN & BRU B qrel
kind of mutation? IURITT § —
(1) Transversion (1) ciEaee
(2) Inversion (2 TEEE
(3) Translocation @) SrEadE
(4) Frameshift @) Sl
112. Headquarters of ICGEB is located at — 112. FEHESHEA. BT g wei Red 89
(1) Geneva (2) Paris @) f=ar (2 uR"
(3) Trieste (4) New Delht (3) TR @) 5 feeeh
113. The first strategy used for molecular mapping 113. 3nfS9es FERET & T SYANT B S arell
was based on which of the following? Tgell XU fEfoliad § 9 fow w
(1) Neart ic i e
ear isogenic line
(1) R AT aET
(2) Recombinant inbred lines ) Reifteic sTs o=
(3) Bulked segregant analysis (3) ToTs A fAvayor
(4) F: population (4) Fruigeme
114. Which of the following includes genetic 114. fr=ifeiRed # ¥ frad SARke SehfafRy
engineering? Ml 87
(I) Green revolution @ =Ra sifa
(2) Gene revolution (2) wiF wify
(3) Bloodiess revolution (3) TR Bify
(4) Globalization @) Yediewor
115. Certification is not required for — 115. YHIUM & aeahdr fead wE 87
L Nucleus seed L Y[ et
II.  Breeder seed I st d
II.  Foundation seed I 37ER 99
IV.  Certifted seed IV. waftg 91
Choose the correct option - T8 R ﬂ"# —_
(1) Tand I @ 1RO
(2) Mand I (2) DRI
(3) TandIV (3 13RIV
4) Dand IV @ naiRIV
116. Flag smut disease of wheat came into India 116. WRd 4 I & a5 W AT Bal 9
from — 3nare
(1) UsA (2) UK (1) 95T 2 I
(3) Australia (4) Mexico (3) sieforr @ Afraesr
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117.

118.

119.

120.

121.

122.

Which of the following does not describe
over dominance hypothesis of heterosis?
(1) Heterosis is due to heterozygosity
(2) Itis most applicable to maize
(3) Inbreeding depression is due to
homozygosity
(4) It is exhibited by sickle cell anemia
gene

Match the column A with column B and pick
the correct option given below-

Column-A Column-B
(1) Ghost gene (a) Polygenic
hypothesis control
(ii) Horizontal (b) Horizontal
resistivity resistance
(i) Race specific (c) Cell death
(iv) Hypersensitive (d) Vertical
response resistance
Choose the correct option -

@ @ G v

1) b a d c

2) a b d c

A3 c b a d

@ d b c a
The right of an author, artist, publisher to
retain ownership of works and produce or
contract others to produce copies is
called —

(1) Patent

(3) Trade secrets

(2) Trademark
(4) Copyright
Triple test cross analysis involves -
(1) FzandFi
(2) F2,Piand P2
3) F2,Fi,Piand P2
(4) Pi, Py, Fz, Fi, BCy and BCs
A genetic locus that serves as a recognition

site for RNA polymerase attachment is
known as —

(1) Primer (2) Asite

(3) Psite (4) Promoter

The first transgenic plant was produced in
which crop?

(1) Cotton

(3) Maize

(2) Tobacco
(4) Chickpea

117. FrfaRea § & o 9o e o a1l W

URBST BT IO 8] Bl &7
1) gﬁsﬂﬁrﬁwﬂm%mw@m

(2) I% AFDI TN e AP AN BT 8

(3) IATUSTE  SEEIE TGl B
BT BT &

@ ¥E Rida o ThidEr 9 gnr
AR

BT &
DI A P BieH B ¥ Fhferd Hiferg iR
W famed 31 gre-
DleF—A Bi~B
() = A (@ SgIew
gRGeTT GUELT
@ &fow (b) AR uferwE
P INRIERI

(i) T AR () FREE Ty
(v) IRIE=ia (d) <gaq gRe
gfcfsear
wE feey g+ —
@ @G G G
@ b a d ¢

2) a b d c
3) c b a d
4 d b c a

UG olEh, HAPR, YHEE B
wWifiE B TN @ SR e
TN $ fag Swed 31 ey
RPN PEaE & —

(1) ie Q) A

(3) ¢S U 4) BEREE
fouer e wivg fwem # miva & —

1) F dREF

(2) Fz, P13RP;

(3) B, Fi, P13k P2

(4) P, Py, Fz, F, BC; 3R BC;
TH TR WM Gl RNA Uleiest
e & Y 6 AFgal WA B B9 |

BRET P
ST uleEi
B Bl

BRI BT 8, coren P WY F SET ST 2
(1) TR (2) Twise
(3) 9 \rse @) W

Tgell IR giaei-ie O @ Sded 69
wae § AT T on?
(1) U
(3) AFHT

(2) TS
@ =T
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123. Match the column A with column B— 123. dia A B Biad B ¥ FAfora BIvT —
Plant part Derived from ol &1 B A ST
{column-A) (column-B) (Pic—A) (Pie—B)
() Endosperm (a) Integuments ® gmq‘rer @ gé'gﬁz
(i) Seedcoat (b) Definitive (FRreett)
nucleus (ii) E‘ﬁﬁ ﬁt’ (b) ﬁﬁ‘ﬂﬁ' W
(iiiy Perisperm  (c) Ovule (i) R () =g
(iv) Seed (d) Nucellus Gv) o (@) dAicHH
Choose the correct sequence - & B -géf -
@ @ @ G @ G GD) GV
@b c d a @ b c d a
2 b d a c 2 b d a c
(3) b a d [+ (3) b a d C
(4) a C b d (4) a c d
124. Which of the following crop shows high 124. ﬁ?ﬁiﬁﬁﬁﬁi‘?\ﬁ’@r el I IdFoI
inbreeding depression? ITEE <Y B?
(1) Pearl millet (2) Carrot @) IoRT 2 TR
(3) Onion (4) Sunflower (3) @&t @) G
125. The male sterile line Tifi 23A of Bajra was 125. SO &I - 95T g Tift 23A ®I F&l §
introduced from - AT IR=T oO1?
(1) Russia (2) China (1) 49 2) 9=
(3) USA 4) Japan 3 Jwuu @) <uE
126. Match the column A with column B and 126. ®ieH A $I SleM B I Fofew DIog 30K
choose correct option - &l [AdHeq & I DifoTg—
Column-A Column-B PieTH—A PiTB
(i) Heterosis (@) Superdomi @ IERaAS ()  fowenRarn
nance N AT :
(iiy Overdominance (b) Pseudo (i) (b) B |
heterosis )
(iif) Luxuriance (c) Economic (iii) e () omRie W
heterosis . SISt
(iv) Useful heterosis (d) Hybrid (iv) ST ek (d) wEs TR
vigour s
Options- d@ea—
@ @@ G v @ G @) )
1 d a b c 1) d a b c
(2 a c b d @ a c b d
3 b c d a 3 b c d a
4 c a d c @ c a
127. Law of parallel variation was given by — 127. |EHiGR f&=mar &1 ﬁ‘ﬁm W gRT 3
AT o7
(1) Hawkes (2) Harlan (1) Bl () T
(3) Frey (4) Vavilov 3) B @) MaE
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128. Match the column A with B carefully and 128. @i A &I Bl B ¥ BT AR
select the correct option from the list given ST A gheg e § 9 98 Ao
below— BT IAT DIfeTG—

Column-A Column-B Hem—A BB
@ Gemome () Genome @ < @ ofFF R
structure  and 3R B
) function Gi) wifeam ®) wfedwm @
(ii) Proteome (b) Determination Fyfeor
of the proteome G SR SR
(iii) Genomics (¢) The complete (it © B B
set of genetic e ™
information . AR B
(iv) Proteomics (d) The complete @v) e @ &N
set of proteins- TPES  HICH
encoded by E2aNl He
genome fase—
Options- ® (i) @i @Gv)
@ @ @@ 3G 1) a c b d
® a c b d 2 d c b a
2 d c b a 3 c d a b
3 c d a b 4 b d a c
4 b d a c
129. B. McClintock was awarded Nobel prize in  129. €I, Af¥cici®s ®1 a¥ 1983 ¥ fous fom Fea
the year 1983 for - YEER 4 TG e @ o
(1) Analysis of crystalline structure of 1) Sifds T8 @ ey 9= &1
biological importance CERLELE
(2) Automated peptide synthesis 2 @I Tess 93N
(3) Discovery of transposable elements @) 9eHT § ediaeng  O@ @
in maize &
(4) Studies of oncogenes of retroviruses @) LIRRE B AP BT AT
130. Father of hybrid cotton is - 130. YR U P OED & —
(1) M.L.Patel (1) . Tel. Tee
(2) P.B.Patel ) 9. 91 ued
(3) C.T.Patel (3) & 4. U
(4) C.M. Patel @ < v ued
131. In plants, male sterility tends to increase - 131. i ¥ % g 9o & —
(1) Out crossing (1) <1 HH
(2) Inbreeding (2) TS
(3) Pollen dispersal (3) WRFT BT Beg
(4) Isolation (4) MsEeEE
132. When the value of sclection coefficient is 132. WI¥ Td9 UI® &I AM YHeUal (S=1) 3, ol
unity (S=1), survival rate will be — IRTE &X B —
1) 10% 2) 50% 1) 10% (2) 50%
(3) 75% (4 No survival @) 75% @ B IRTA 7T
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133. In the cell the chromosomes are in the 133. BRI § PR ARVGTH WISRASILA
& : :

condition of maximum spiralization and are GIEEIEaY)) s # 39 £ &l
placed along the equatorial zone. What Eqwiﬂéﬂq 89 P 9rR W@ W B T
period of mitosis is described? faareir @1 T araler w1 9oi fhar a1 &7
(1) Prophase 1) ws
(2) Telophase @) St
(3) Anaphase 3) TPy
(4) Metaphase @) Yeow
134. Match the column A with column B — 134. BfaH A B Biad B 9 goferd Hifeg —
Column-A Column-B BDlTA—A BB
(Crop) (Seed (e @ 1o
Multiplication )
. Ratio) 0 W @ 1:40
(1? Wheat (a) 1:40 (ii) S8 (b) 1:50
E?Q) E,l“kg;m ?’; i :gg i)  orerely © 1:80
il insee c : .
v) Rice @ 1:20 (v) =maa (@BE) @) 1:20
(Varieties .
Choose the correc?t answer - e gﬁ -
@ @) G @Gv) @ @ ) G
@D a c b d 1 a c b d
@) c b d a @ c b d a
3 d a b c 3) d a b c
@b c d a 4 b c d a
135. Maximum seed lot size in maize — 135. g‘cﬁﬁr # aIffimad 9o dfe SR famr gar
?
(1) 500q (2) 300q (1) 500, (2) 3003,
() 2004q (4) 400q (3) 2005 @) 4007,
136. The performance of a synthetic variety is 136. G%iffd fbw1 & UssH Wy =am
affected by — -
I Mean performance of a synthetic L HyalRa fbe &1 oiga e+
variety 0. Fi & 3a e
IL Mean performance of the Fi’s o ige du @ g
III.  Number of parental lines ey —
Options -
1) ITandIl 6 ) 13RI
(3) Iand T (3) IR
4 ILOand I @ LIOSRII
137. Most of the mutants chimera in clonal crops 137. gﬁﬁﬁa BEcl A ARSI R FEAT
are - -
(1) Mericlinal chimera 1) ARfRFT TN
(2) Periclinal chimera (2) RfFATeT BreiNT
(3) Sectorial chimera (3) VTN BT
(4) Graft chimera @) T HIGRT
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138.

139.

140.

141.

142.

143.

DNA replication takes place during which
phase of the cell cycle?

(1) S —phase

(2) Gl —phase

(3) G2-—phase

(4) Anaphase
Under Companies Act SFCI was set up in the
year -

(1) 1968 (2) 1969

(3) 1970 4) 1971
Canopy temperature is readily measured
with -

(1) Porometer

(2) Infrared thermometer

(3) Mercury thermometer

(4) Tenitometer

Match the following —
Institute (Location)
Country
(i) AVRDC (a) Liberia
(it) ICARDA (b) Nigeria
(iiiy WARDA (c¢) Taiwan
(iv) IOTA (d) Syra

Choose the correct sequence -
@ @ @ G

@ a b c d

@ b a d c

3 c d a b

@ d c b a
The largest number of varieties developed
through hybridization between mutants
belongs to -

(1) Forage crops

(2) Oilseeds crops

(3) Pulses

(4) Cereals

Crop improvement can utilize, which of the
following mutations?

(1) Lethal

(2) Sublethal

(3) Vital

(4) subvital

138.

139.

140.

141.

142.

143.

ST Ui BiffeT 9% & 59w &
SN BT 87

1) T — W

(2) St 1— TR

(3) St 2— =9

@) TS
B0 AR B 989 CAUEHLENE. @
RG] B T —

(1) 1968 (2) 1969

(3) 1970 @ 1971
DG GTI AT AT ST 8 —

@) IRFRR

(2) TPRS eFHIER

(3) URT TR

@) TR
ffafa o1 gafa s —

el M (&)
) THIRIHL (a) <TARAT
() EWMTIRST (b) ISR
(i) SYUIRSIY. (c) d=ZaH
(V) EIEAT (@ i
TE 9 g —
@ @ ) Gv)

@ a b c d

@ b a d c

3) c d a b

4 d c b a
SaRgdi & 9 Yoo © 9 3 fAela
efera &7

(1) IR drell Bt

2) freE=T wad

(3) ToTEAl B

(4) IFFTST Grel B
frafafeg & ¥ @99 91 SaRqdqd, wEd
IR ¥ SUIANT fHar &1 aHar 29

(1) e

(2) SU—HGH

(3) ShE-ER

4) ST-SITER
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144. Tbe full complement of RNA molecules 144. SiHM §NT Saifed ARUAN. SR &1 qof
produced by the genome is called - YRYRSP HET 9T & —
(1) Transcription O ciafbEE
(2) Translation () TigeEE
(3) Transcriptome (@) TiEreE
(4) Splicing @) R
145. The concept of gene pools was proposed 145. WM U@ & I@UROT Falad @ TI‘sgg
by - off —
(1) N.Myers (1) . 95 gRI
(2) J.R. Harlan (2) . 3R BeH §RT
(3) Harlan and De Wet (3) T 3R € 9 NI
(4) N.I1 Vavilov @) T s, AT NI
146. Range of correlation coefficient is — 146. HEHeY TUNG B G T —
1) -0to-1 (2) Oto1l (1) -0to-1 (2) Oto1l
3) +1to-1 4 >1 (3) +1to-1 @ >1
147. Dee-geo-woo-gen is a rice variety belonging 147. Eﬁ—ﬁ'ﬂ‘f—i—iﬂ?{ aad ® (& e 8 ST
to which of the following species? Fr=fafaa 94 9 g vonfa 9 YdRa 27
(1) Faponica (2) Javanica (1) Skt (2) STaFBT
(3 American (4) India (3) sWR®T @ WRa
148. Which of the following is used for ELISA?  148. famforRag # 9 et suaT uforar & forg
fopar <imar &7
A Probe A. o
B. Antibody B. TAEE
C. Antigen C. TSN
D. Fluorochrome D. YeNlBi
Choose the correct options - & Rrpey ﬂef _
1) A,D @) AD
(3) C, D’ A (3) C, D, A
149. First degree of Statistics includes - 149, '\‘l’lﬁi&ﬁ ﬂ‘:’f TR St # wnfie ? —
(1) mean 1) 9y
(2) variance 2) TR
(3) covariance (3) HETERO
(4) variance and covariance @) TEROT 3R YRR
150. Population of cross pollinated crop species 150. WR—URING HHe Yonfadi P SFraEl
are highly - ATRF Bl | —
(1) Heterozygous and heterogeneous (1) vy sk fagm
(2) Heterozygous and homogeneous (2) fwpsh sk gomd
(3) homogeneous and heterozygous (3) TR AR RSl
(4) Homozygous and homogeneous @) TS SR e
stk s ek o ok
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